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Mr. Mohammed Ziad
0507214939

Q1) Write an equation for each ellipse.
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' Q2) Write an equation for an ellipse that satisfies each set of conditions. o 4
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4 Q3) Find the coordinates of the center and foci
s )
3x2 + 2_1,.*2 +12x— 20y + 14 =0

2 4\ 4+ 29" _209 = _\Lk

% 7k & g

Cenker (-\’7\—/ E) \j

GQ"' 24 = O: \‘ 26 = 2{4 A’ below Yy
| [ b- ¢ = L Vertical

C- ot -b"
e 2L -6 - 8 = C:=V8& -2z

Cocv (-2, 5%107)
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' Q4) Write the equation of the Hyperbola given fom ( 8 0) (8 0) ,

asymptotes : y=x, y=-x \l L/
Centes - (-8+8 , 0‘*’05
C=8-0:-% T

- (o, 0)

asgmptole ; y. 5 b

%\KJ\_ =>Kb:0\i
\Du\}r C - or+b” 4/

(8)1 = a® + a?'
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‘ Q5) . Identify the vertices, foci, and asymptotes.

9y? — 4x% — 54y +32x— 19 =0 >

19 —Sby Ehx*432x = \4

AU = by e SE(X —8x e ) = \A 4 A3 f(0)
oy S AR
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\ x| |
XY =3 k(X —L) =26 /a2t
Z&L Lot =58 /

(9-3)" _ (x=L)" _ | \./i,
b 5\ [\
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Vertical
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i hrAa= 13 = CaB

Nertice (4, 332) = (4,1),(4,59)
gOC\ (b- / 31\/73-) = (4,3‘\!'5) , (& 3+Jﬁ)
Co-\leV"'l(,eS (l/.i'}, 3) < (| / 3\ ) (7‘ / 3)

asy Mmptoles . k= F-2(x=h)
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J- b
Y-3-3 2(x =4
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